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Second Language Acquisition

When you decide to acquire English, what kind of learning method comes to
mind? Many people think of having conversation lessons with native speakers,
but, in fact, this alone is terribly inefficient, especially for entry-level and
intermediate learners. One study shows that it takes about 3,000 hours for
Japanese learners to acquire English. Learning a language requires a lot of
effort, but since our time is limited, we need to choose the most efficient way.
Fortunately, a series of scientific studies have shown what works and what
doesn’t. According to the research of Second Language Acquisition (SLA),
there are 2 essential requirements for effective learning; repetition of
comprehensible input and the necessity to produce output. Input-based learning
is particularly important. What do they specifically mean? Why are they
important? How can we improve our English the most effectively?

Contrary to popular belief, the majority of researchers agree that input-based
learning is actually the most important factor in language acquisition. Learners
have to be repeatedly exposed to input that is both meaningful and
comprehensible. More specifically, they need to read or listen to sentences that
they can understand, over and over again. Just having speaking lessons without
sufficient input learning is like a beginner soccer player skipping practice and
only playing in games. Without listening comprehension to understand what
others are saying or an enough vocabulary stock to express your thoughts, what
on earth can you do in speaking lessons?

Furthermore, If English language learners are forced to speak English without
enough input learning, it can cause negative consequences. One such case is the
solidification of incorrect expressions. For instance, while "What do you think
about it?" is a natural expression, Japanese learners of English are prone to
producing the incorrect expression "How do you think about it?”” after a popular
phrase in their mother tongue. Due to limited vocabulary and grammar
knowledge in English, learners have to rely on their native language habits and
produce unnatural and incorrect expressions, which can become ingrained
through repetition.

(1) The word “comprehensible” in the passage is closest in meaning to
A. complete
B. understandable
C. thorough
D. moderate

(2) In paragraph 1, which of the following is NOT mentioned?
A. Having Speaking lesson alone is quite ineffective for proficient English
learners.
B. Scientific studies have figured out a couple of necessary conditions for
effective learning.
C. Digesting input repeatedly is the most essential part of language acquisition.
D. Learning efficiency is important since our time is limited.

(3) The word “acquisition” in the passage is closest in meaning to
A. purchase
B. possession
C. gaining
D. proficiency

(4) According to paragraph 3, which of the following is true?
A. English language learners are not affected by limited vocabulary and
grammar knowledge.
B. The phrase "How do you think about it?" is a natural expression in English.
C. Native language habits do not influence the production of unnatural
expressions.
D. Insufficient input learning can lead to the solidification of incorrect
expressions.
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In learning English, we need to abandon excessive expectations and illusions
about human memory. Except for a very few individuals with exceptional
retention, we Homo sapiens cannot memorize things for a long term unless we
repeat them enough. The vocabulary you learned today will probably be
forgotten a week later. Even if you remember, we need to ask ourselves whether
we can recall it immediately as soon as you hear the word in real conversation.
If it takes a few seconds to bring back its meaning, in practical terms, you
effectively don’t know the word.

This is also the case for grammar. Studies on college students have shown that
grammatical knowledge we learn in the classroom is mostly forgotten in a
couple of months. Moreover, having knowledge doesn’t necessarily mean that
we can use it in practice. What we learn explicitly needs to be turned into
automated, subconscious knowledge with which we don’t have to consciously
think about how to use it correctly. Our cognitive capacity is limited; we cannot
focus on multiple things all at one time. When that limited capacity is occupied
by grammatical rules, we cannot pay attention to communicating and
understanding messages. We need to practice repeatedly until it’s deeply rooted
in our long-term memory.

(5) According to paragraph 4, which of the following is NOT true?

A. Vocabulary knowledge is of practice use only when you can recall it
instantly.

B. We Homo sapiens have worse memory than other primates.

C. We cannot memorize things for a long term without repetition.

D. We should not overestimate our memory.

(6) According to paragraph 5, grammar has to be automated, subconscious
knowledge because

A. what we learn in classroom will be forgotten several months later.
B. we need to spare our cognitive resources for other things.

C. otherwise we will make a lot of mistakes.

D. studies done on college students proved so.
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There is no SLA researcher who denies the importance of input-based learning,
but what do they say about output learning, such as speaking and writing? While
opinions among researchers are divided on the effectiveness of output learning,
it seems that having a small amount of opportunities to produce output can
possibly facilitate learning, based on areas where they generally agree.

Researchers argue that output learning can be effective for roughly the
following two reasons. First, it requires us to pay closer attention to the
language. For example, when we listen to someone saying “paper is made from
wood,” we only focus on comprehending the message that wood is the raw
material of paper, and we usually don’t care whether they said “made of” or
“made from.” However, when we speak or write about it, we have to know the
distinction between “of” and “from.” Second, an opportunity to produce output
increases the motivation and effectiveness of input learning. If you know that
you have to explain the article to your peers, you will concentrate more than
when you read it by yourself. Additionally, when you have a chance to speak,
you will notice expressions you wanted to say but you couldn’t, which will be
the next target for further input learning.

While researchers have varying opinions on the effectiveness of output learning,
it is commonly believed that having some opportunities for output can facilitate
learning due to increased attention to language and motivation. Nonetheless,
input-based learning remains essential, and combining it with a small amount of
output practice can enhance learning efficiency.

(7) The word “facilitate” in the passage is closest in meaning to
A. arrange
B. increase
C. improve
D. assist

(8) In paragraph 7, which of the following is NOT mentioned as reasons why output
can be effective?

A. It tells us what we need to practice more.

B. It prompts us to pay more attention to expressions.

C. It is more practical than reading and listening.

D. It improves the effectiveness of input learning.

(9) According to paragraph 9, which of the following is true?
A. Researchers have built consensus on the effectiveness of input learning.
B. There is no doubt that output is essential for effective learning.
C. Efficiency of output learning is facilitated by input learning.
D. The ratio between input and output learning should be 1 to 1.
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10.

The last piece of advice for English learners is to read a lot of books in
Japanese. When we read or listen to languages, we use two ways simultaneously
to understand the message. One way is called the bottom-up process, in which
we build the meaning by picking up individual words and putting them together
according to grammatical rules. The other way is called the top-down process
where we predict the messages based on existing knowledge and the previous
context. Studies from cognitive psychology have shown that people with a high
level of language comprehension are more likely to use the top-down process
effectively. They rely on their vast knowledge to forecast the upcoming message
in a top-down way, and then employ a bottom-up approach to verify that their
hypothesis is correct.

Making sense of English is not something that can be done automatically with
grammar and vocabulary alone. Instead, we should view it as a process to make
a reasonable context based on what you hear or read. It requires not only pure
English skills, but also extensive knowledge, profound insight, and ability to
generate hypotheses. For example, comprehending a technical presentation on
Artificial Intelligence depends heavily on your prior knowledge. Even if you
have excellent English skills, you may struggle to make sense of the talk
without a basic understanding of the topic. However, if you have some
background knowledge, such as from reading a book or watching a
documentary, you can more easily understand the presentation even if your
English proficiency is not high, because you can leverage your knowledge to
predict the content.

(10) According to paragraph 9, how do we comprehend a message?

A. We rely on vast knowledge of grammar and vocabulary in a top-down way.
B. We predict the meaning top-down and confirm it in a bottom-up way.

C. We focus on grammatical structure and vocabulary so as not to be influenced
by our prejudice.

D. We refer to the existing knowledge while grammatically arranging
vocabulary.

(11) According to paragraph 10, which of the following is NOT true?

A. Sometimes we can fail to comprehend a message even though English
proficiency is high.

B. Language comprehension solely depends on mastery of English.

C. Knowledgeable and intelligent people are likely to understand the intention
of the speaker without enough English proficiency.

D. Learning about a specific subject in your mother tongue will help you
understand the topic in other languages.

(12) Within the whole passage, all of the following were mentioned, EXCEPT

A. All SLA researchers agree that input learning is essential.

B. The current conclusion by searchers may be against the common view of
ordinary people.

C. English proficiency mostly consists of vocabulary and grammar knowledge.
D. A word whose meaning cannot be recalled instantly is not of practical use.
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(1) XH1 D “comprehensible” D EIKICHR IV DL ?

A. complete (5E427%)

B. understandable (PEfETIHE %)

C.thorough (%7, MUEMY7Z)

D. moderate (GHi[£7:, H < 500)

RN BAGE IS comprehensive (GLEIN72) » &\ ) GEAEDEE T 2. A, COFERIL I
comprehensive D HHFHI 2 > T\ % D THER,

Q) 1BETEAIN TRV DIE?
A. Having Speaking lesson alone is quite ineffective for proficient English learners. (J&3E D [Hk2% 8 # 12
EoTEET L v A Y DADYEE FIEFR ISR )

B. Scientific studies have figured out a couple of necessary conditions for effective learning. (B 7 iff%t

RN 7222 E D 2 D DS 2 L 72)

C. Digesting input repeatedly is the most essential part of language acquisition. (£ > 7"y b %D K L
fELILT 2 2 LG EEBO L - L O MHDEETH 5)

D. Learning efficiency is important since our time is limited. (FFEIZPR 5 41T V> 2 O CAEFRIZEHE
7)

ASCPTUE, FRCHITFIRE IS E 5 TAE=F V74 v ) —DEEDBIERHR LIBT3 DT,
ADWEIZE LI NT LR,

(3) XD “acquisition” & fiz b EIEANE LD I1X
A. purchase (ffA)

B. possession  (FTf¥F)

C. gaining (J#£3)

D. proficiency (%)

@) SBVEONEICAKT 2013 ?

A. English language learners are not affected by limited vocabulary and grammar knowledge. (JERE275
i, RO SGEO ARSI S T T H BB EZ T )

B. The phrase "How do you think about it?" is a natural expression in English. ( T& 9 wFE 0?2, &

V) BTEFEGE E LTIREARARILE)

C. Native language habits do not influence the production of unnatural expressions. (RFHEIFEDEHHIZAH
RRFBOPEC B Z 5.2 750)

D. Insufficient input learning can lead to the solidification of incorrect expressions. (£ ¥ 7" b 2AE 234+
SR, Ml 2 REDEE LT L E 5 WSS 2)

(5) ABEDONFICABZ L R DIE?

A. Vocabulary knowledge is of practice use only when you can recall it instantly. (FEHEDHIR %, BFRFIC I
W2 X ) IC B> THIO TEMN AR b DI 3)

B. We Homo sapiens have worse memory than other primates. (fA7: 5 FEH EL ¥ A IIMEOTFRF L D
A3 %)

C. We cannot memorize things for a long term without repetition. (fA7z & 13 KIEE 3 IS % KRR
THILIETERY)

D. We should not overestimate our memory. (FiE /] % {5 TR E TR W)

(6) BEREIC K B & SCEMHEME S AUERGRIN 2 RIS 2 > T 14U 7 & 2w B 13

A. what we learn in classroom will be forgotten several months later. (FZ T AT LB HEICIE
BERTLEIDDS)

B. we need to spare our cognitive resources for other things. (flhod & EIZFRAIY Y —A % E { BTN H 5
25)

C. otherwise we will make a lot of mistakes. (TZF4UE I A% %500 5)

D. studies done on college students have proved so. (KZAAZH L TITb N7z FEERTZ D X I ICHEH X
N5 5)

ENDEGRD S B X v o8y T4 2T 5 L, BREZBMBL 72D {B272hT52 L1

F v T4 2ET 7 B L) AXDWHITHET 2 BASIEM,

(7) X “facilitate” & fie D BIRHI VD 13
A.arrange (¥ 2%, FiLT 3)

B. increase (3§5°9")

C.improve (1] LZ¥ %)

D.assist (W1 &%, fEdEd %)

Q) TBET, 777y P EEPEINCRD Z28HE LTERINTAREVLL DI

A. Tt tells us what we need to practice more. (b > EfIEHTRE S DM 2H 1 5)

B. It prompts us to pay more attention to expressions. (R H > EHFEEZIL) L9 LT 3B)
C. It is more practical than reading and listening. (Ftdr « [l < X D F£EEMHY)

D. It improves the effectiveness of input learning. (A > 7y M EE ORI EXE2)

9) IBHEDNEICEHT 2 DIE?

A. Researchers have built consensus on the effectiveness of input learning. (fff%i# 725 (%4 7'y +4H
DRI OVTRAEFPRS LTV 2)

B. There is no doubt that output is essential for effective learning. (777 + 7y b 2GRN 72 EF b TH
2 2 EIRREVAR )
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C. Efficiency of output learning is facilitated by input learning. (77 b 7"y R 2EZE DRI A 7y b7
HickoTiitEzn s)

D. The ratio between input and output learning should be 1 to 1. (£ ¥ 7y b & 77 + 7y b OEE
X1:1THBHRELR)

(10) According to paragraph 9, how do we comprehend a message?

A. We rely on vast knowledge of grammar and vocabulary in a top-down way.

B. We predict the meaning top-down and confirm it in a bottom-up way.

C. We focus on grammatical structure and vocabulary so as not to be influenced by our prejudice.
D. We refer to the existing knowledge while grammatically arranging vocabulary.

(D) 10BEEDNFICEHK L B D ?

A. Sometimes we can fail to comprehend a message even though English proficiency is high. (35371743 <
THRROBBIZRINT 2 2 93D H1E5)

B. Language comprehension solely depends on mastery of English. (5 3ARRf# X 0E5E T O BPGEL SV IZD
HMEAFS B)

C. Knowledgeable and intelligent people are likely to understand the intention of the speaker without enough

English proficiency. (i CHRHI 72 NIZHEFE DA CHREL FORMMEZBRET 2 2 L TES T
EWH D)

D. Learning about a specific subject in your mother tongue will help you understand the topic in other

languages. (% 7T —<IZDWTREATHEATE &, MU FEYy 7 24 HETHRT 2 & 0T
I27%%)

(12) AP THRR S NT VR VDI

A. All SLA researchers agree that input learning is essential. (& & W 2 SLADHIFEH A > 7'y b E )3
HETHB I LICHEL T )

B. The current conclusion by searchers may be against the common view of ordinary people. (FF4£3#% 1 & %
BEDRTRIZ AL ORI E ZRK LT 208 Litkw)

C. English proficiency mostly consists of vocabulary and grammar knowledge. (JEEEDBGELIXIZE AL
A L SURDRIERIC L > TikE )

D. A word whose meaning cannot be recalled instantly is not of practical use. (3" {IZE A B HE 720
GAEE S IMEY T FR AR

C39,10BFE DAL T 2 DT,
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